Obnyiec TotTOBETNONC ‘

Euro Star
~

= A (8x) Mutter M8

([ @ @  C (&x) Gewindestange

M8 x 320 mm
D (Lx) Uberlager

U-Profil

20x20x2x200

e H (2x) Spax 3x16 mm

J (1x) Ringschraube
Holzgewinde
6x60 mm

S A 1 (2x) Mutter M8
B (hx) Beilagscheibe M8

O M (1x) Zugstockhaken
®30x87 mm

1

N

Beton Isolierung mit Mineralwolle  Zarge
Bauseits

EB-0016-02



Obnyiec TotTOBETNONC
Elegance




Obnyiec ToTTOBETNONG
Tradition

' EB-0008-04

o
B (2x) & | (4%) ol Fax
@:Ilnm S1 (4x) "

x)

g —— /\
E (2x) s

@"’m L (2x) ——

R (18%) o K (4x)
T o QU] (OO
- Q(2x)




Obényieg ToToBETNONG
Tradition

Mo:5a
Tr:27mm
De:33mm

EB-0008-04



O6nyieg TOTTOBETNONG
Steel

M8
M 8x16
M8
M8x50
K (4x)
M5x30
118 x 30 x 60

r—‘
M5x22

M5

M5 @ 20

M5 M (1x)

(MU N

EB-0030-02



Obényieg ToToBETNONG
Steel

EB-0030-02



